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Solution.

Algorithm 1: K81

Input: m
Output: fact

1 n← 1
2 fact← 1
3 while n < m do
4 fact← fact ∗ n
5 n← n+ 1

6 end
7 output fact

2. �½��èXAlg. 3¤«§��ÑTã�èL«�¿Â"

1



Algorithm 2: ��è

Input: x1, x2, · · · , x10

Output: n

1 n← 0;
2 for i = 0 to 10 do
3 if xi ≤ 0 then
4 n← n+ 1;
5 end

6 end
7 output n;

Solution.

õU:
P¹x1, x2, · · · , x10¥��ê�ê��ê§¿ÑÑTê8

3. ��O�{¦)¯Kµ“Ñ\ü���ê§ÑÑùü�ê���ú�ê”"£ã�Og´¿
�Ñ��è"g´µk¦Ñ�ö��ú�ê§2òüê�¦§Ø±T��ú�ê

Solution.

Algorithm 3: ¦��ú�ê

Input: a, b ∈ N+
Output: LCM

1 c← a ∗ b
2 sort(a,b)
3 while a mod b 6= 0 do
4 a← a mod b
5 sort(a, b)

6 end
7 c← c/a
8 LCM ← c
9 output LCM
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